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g PUJA KUNDUSF 21 hours ago

na qn tha sir thora ghumaya 400 kg dry fruit mai
ec laga...thank you sir for the amazing

Thank-you Sir for this Magical Class Session of today's.. [ &)
And

My Answer for today's homework is like-

Option A-175.

And my calculations are like-

Thank-you So much, Sir ji..@

Soumen Sinha 22 hours ag

Option 1. 175 Kg
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The ratio of quantity of water in fresh fruits to that of dry fruits is 7 : 2. If 400 kg of dry fruits contain
50 kg of water then find the weight of the water in same fruits when they were fresh?

drst ®ell # Tl T AT FT @ A § 39d 7:2 §1 e 400 fHam g@ A9l & 50
fram o=l &, A 3 B F Ul FT AR AT AT o F e 97




If the ratio of simple interest and principal is 8 : 25/2 and rate of interest is equal to the time

invested then find the time of investment?
I WIUROT SATST 3R HAYUS HT Hard 8:25/2 § 3R <A X fraer fve amv w7y

& U] & a R &1 §HY A9 Hifere?

1)12 years
2)16 years
3)10 years
4)8 years




4 men can develop a mobile app in 3 days. 3 women can develop the same app in 6 days, whereas 6 bdyg can
develop it in 4 days. 3 men and 6 boys worked together for 1 day. If only women were to finish the remaining
work in 1 day, how many women would be required?

4m3ﬁﬁ#wmmwmawm%l3ﬂ%ﬂww€rtmaﬁsﬁ?ﬁﬁ
RSRT FT Tl §, J9F 6 d3F 5@ 4 AT # QPRI = THa &1 3 e 3w 6 =&
fAoax 1 e &3 Fa & I Saa ARt & 9y F37 F 1 T & @ &= &, a
frdsit Afgem3it T TaTHar grei?




A student rides on a bicycle at 5 km/hr and reaches his school 3 minute late. The next day he increased hﬂls
speed to 7 km/hr and reached school 3 min early. Find the distance between his house and the school?

B Aefed W 5 frdlaer $r afa @ gaar § 3R 3 Fee & ¥ v Rg@meT ggaar
%lmﬂwmmﬁmﬁw7mwaw€raﬁt3ﬁmﬁwmmﬁl
38F W IR THA & fiT f gl 71 Hifow?
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A boat goes 24 km upstream and 36 km downstream in 6 hour. In 6 1/2 hour, it can go 36 km upstream ahd
24 km downstream. Find the speed of the boat in still water?

U A9 4T & ufaga 24 FAY 3 47 & srerher 36 feY 6 € # St 81 6 1/2 we A,
g 36 frelt A 3t 24 fFHT sEATEH AT Thar g1 AT JAdT H A1 i AT A
Ifore?




If A and B together take 40% time of the C to do a work while B and C together take 60% time of the A to“do
same work. If they together complete the job in 95 days then in how many days B alone complete the work?
IR cATHT

afe A3 B fATHT Fd 17 FF 6 F AT CH 40% T7T o
mmaﬁmﬁ#Aﬁso%maﬁ%laﬁa‘ﬁwmaﬁgsﬁa’rﬁwm% ar

B 3ol 3W F F fFasr et & qr wme?




A container contains some milk. If 16 liter of milk is taken out and replaced with water. If this process iS

repeated three times more then the ratio of milk and water become 16:65. then find the initial quantity of

milk?

UF ol A F6 ¥ gl If 16 ﬁﬁwﬁml Ife 3
qrell FT 39T 16:65 Y Smar g1 af g A

gfRar Y e I 31f0F ST ST
mmmaﬁﬁﬁ?




